THSEE TL REREENITHER

HEFR/ BXRFRREHH
AEAR/F2[E (FFH5F8HA2H)

LRy TISLIH INT 5 —tEFHYEF=
FEHX 4 miEH (GREZESH 100%) (GAEFHEE 20K) (GAEZEH103) (GRZEHHEE 20K)
RREH RFEE | HEFHEE | FEHHEE BFERY FEEE FERK BFEHEE
BA 27 —tidic f 0% 2§ 0% f 0% fg 50%
BN 2/T o =F 0 0% 0 0% 5 50% 20 100%
gAN 2/T — i 0 0% 0 0% 0 0% 5 25%
XH |lF — i 0 0% 0 0% 0 0% 20 100%
XH |#&#E357 o -F 0 0% 0 0% 0 0% 15 75%
XH |##x387 o -F 0 0% 0 0% 0 0% 0 0%
DS ;i&%T144—1 I 138 51 2 2% 1 5% 4 40% 0 0%
B |TReEED by o 1:8 3 3% 0 0% 0 0% 0 0%
NER |EE o -F 6 6% 0 0% 0 0% 0 0%
e |rEl724-2 o -F 4 4% 3 15% 5 50% 0 0%
e | K584 o -F 29 29% 2 10% 2 20% 0 0%
XH |FHEEH — e 0 0 0 0 0 0 10 05
&t 12F 44 6 16 80
Fy 4.0 0.5 15 7.3




